BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

1000

100

rme53

xz/(41 0940—4865)=1.363
I T T T

BIC 616523.88 ABIC 0.000 AlogP 0.0000
X% 553637.88 Ax? 0.000 AlogP 0.0000 ]

- - - - - - - - _— _]BIC

X2
L L | L L L L | L L L L |
20 25 30
x°/(410940—4865)=1.363
e A R A B AL
BIC 616523.88 ABIC 0.000 AlogP 0.0000
x? 553637.88 Ax?> 0.000 AlogP 0.0000
Fe2 8% 2484205 km/s
BLR 14600 NLR 900 km/s
L O A A A N
I _ ]8R
NLR
Fell

30 iterations

kdh1 12-0ct-2021 15:10



